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E " ( Find the length and direction (when defined) of u x v and v x u, where u = 2i — 2j — k,
v=i-k
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EX 2 Cancelation in cross products Ifu X v=u X wand u # 0,
then does v = w? Give reasons for your answer.
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Eg} Double cancelation If u # 0 and if u X v=u X w and
u-v = u-w, then does v = w? Give reasons for your answer.
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E X g‘ Triangle area Find a concise 3 X 3 determinant formula that
= gives the area of a triangle in the xy-plane having vertices

(al, az), (bl, bz), and (Cl, Cz).
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E)( é Show that 4 points A = (2,0,0),B = (3,2,-3),C = (1,—-1,2),D = (7,—1,—4) are

coplanar.
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_EK 7 Find an equation of the plane through (1,1, —1), (2,0,2) and (0, —2,1).
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